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𝑁 𝐶



 

𝑀𝐶

𝑀𝑁 𝑀 𝑀 ≡ 𝑀𝐶 +𝑀𝑁

𝑝 = 𝑎 − 𝑏𝑞

𝑝 𝑞 𝑎, 𝑏 > 0

𝑛 𝑛 ≥ 2

𝑖 𝑖, 𝑖 = 1,2, …𝑛

𝑖 𝜎𝑖

𝜎𝑖 ∈ {𝑠, 𝜙} 𝑠 𝜙

𝜑 =

(𝜎1, 𝜎2, … 𝜎𝑛) 𝜎𝑖 ∈ {𝑠, 𝜙} 𝑖 = 1,2,…𝑛

 
13 Since we have assumed firms to be identical, they do not have different costs and, hence, we have normalized the 

cost to zero. This simplifies the algebra without any qualitative impact on our results. 



 

𝑀𝐶

𝑀𝑁 = 𝑀 −

𝑀𝐶

𝐴 𝐵

𝛼 𝐴 𝛽 𝐵

𝜋𝑖((𝜎𝑖, 𝜎−𝑖)(𝑞𝑖, 𝑞−𝑖), (𝛼, 𝛽)|𝑀𝐶 ,𝑀𝑁) −𝑖

𝑖

𝛼 + 𝛽 = 𝑛 𝜋𝑖
𝑠(𝛼)

𝑖 ∈ 𝐴 𝜋𝑖
∅(𝛼) 𝑖 ∈ 𝐵 𝛼

𝜎𝑖 =

𝜎𝑗 = ∅, 𝑖, 𝑗 = 1,2,…𝑛 𝛼 = 0 𝛽 = 𝑛 𝑖

𝑝𝑖
0, 𝑞𝑖

0, 𝜋𝑖
0

(1)                                              

{
  
 

  
 𝑝𝑖

0 =
𝑎

𝑛 + 1
, 𝑖 = 1,2,…𝑛

𝑞𝑖
0 =

𝑀𝑎

(𝑛 + 1)𝑏
, 𝑖 = 1,2,…𝑛

𝜋𝑖
0 =

𝑀𝑎2

(𝑛 + 1)2𝑏
, 𝑖 = 1,2,…𝑛

                                                        

𝜎𝑖 = 𝜎𝑗 = 𝑠,  𝑖, 𝑗 = 1,2, …𝑛  𝛼 = 𝑛, 𝛽 = 0 𝑖 = 1,2, …𝑛

𝑝𝑖
𝑠 = 𝑝𝑖

∅ 𝑞𝑖
𝑠 = 𝑞𝑖

∅ 𝜋𝑖
𝑠 = 𝜋𝑖

∅

1 ≤ 𝛼 ≤ 𝑛 − 1 𝛽 = 𝑛 − 𝛼

(2)    𝑝𝑖
𝑠 =

𝑎

𝛼 + 1
, 𝑞𝑖
𝑠 =

𝑀𝐶𝑎

(𝛼 + 1)𝑏
  𝜋𝑖

𝑠 =
𝑀𝐶𝑎

2

𝑏(𝛼 + 1)2
, 𝑖 ∈ 𝐴, 1 ≤ 𝛼 ≤ 𝑛 − 1            



 

(3)  𝑝𝑖
∅ =

𝑎

𝛽 + 1
, 𝑞𝑖
∅ =

(𝑀 −𝑀𝐶)𝑎

(𝛽 + 1)𝑏
  𝜋𝑖

∅ =
(𝑀 −𝑀𝐶)𝑎

2

𝑏(𝑛 − 𝛼 + 1)2
, 𝑖 ∈ 𝐵, 1 ≤ 𝛼 ≤ 𝑛 − 1

𝑀 > 𝑀𝐶 > 0 𝑛 ≥ 2

 
𝑀𝐶

𝑀−𝑀𝐶
<

4

(𝑛+1)2
⟹ 𝛼∗ = 0

 1 ≤ 𝑘 < 𝑛 𝛼∗ = 𝑘
(𝑘+1)2

(𝑛−𝑘+2)2
≤

𝑀𝐶

𝑀−𝑀𝐶
<

(𝑘+2)2

(𝑛−𝑘+1)2

 
𝑀𝐶

𝑀−𝑀𝐶
≥

(𝑛+1)2

4
⟹ 𝛼∗ = 𝑛

𝑀𝐶

𝑀−𝑀𝐶
=

𝑀𝐶

𝑀𝑁

𝑀𝐶

𝑀−𝑀𝐶

𝑀𝐶 𝑛

(𝑘+1)2

(𝑛−𝑘+2)2
(𝑘+2)2

(𝑛−𝑘+1)2
𝑛

𝑀𝐶 𝑀



 

1 ≤ 𝛼 ≤ 𝑛 − 1

𝑝𝑖
0 =

𝑎

𝑛 + 1
< {[𝑝𝑖

𝑠 =
𝑎

𝛼 + 1
] , [𝑝𝑖

∅ =
𝑎

𝛽 + 1
]}

𝑝𝑖
𝑠 𝑝𝑖

∅ 𝛼 𝛼 + 𝛽 = 𝑛 𝑝𝑖
𝑠 ≥ 𝑝𝑖

∅ 𝛼 ≤

(𝑛 2⁄ )
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Pr(𝐶𝐸𝑂 𝐴𝑐𝑡𝑖𝑣𝑖𝑠𝑚)

= 𝑔(𝐹𝑖𝑟𝑚 𝐶ℎ𝑎𝑟𝑎𝑐𝑡𝑒𝑟𝑖𝑠𝑡𝑖𝑐𝑠, 𝐶𝐸𝑂 𝐶ℎ𝑎𝑟𝑎𝑐𝑡𝑒𝑟𝑖𝑠𝑡𝑖𝑐𝑠, 𝐶𝑜𝑟𝑝𝑜𝑟𝑎𝑡𝑒 𝐺𝑜𝑣𝑒𝑟𝑛𝑎𝑛𝑐𝑒 𝐶ℎ𝑎𝑟𝑎𝑐𝑡𝑒𝑟𝑖𝑠𝑡𝑖𝑐𝑠)



 



 

                                                      Rwe;t = E[Rwe;t|Xt] + ξwe,t

𝐑𝐢;𝐭 𝐗𝐭

𝛏𝐢,𝐭



 

𝑅𝑂𝐴𝑖𝑡 = 𝑓(𝐶𝐸𝑂 𝐴𝑐𝑡𝑖𝑣𝑖𝑠𝑚𝑖𝑡−1, 𝐶𝐸𝑂 𝐴𝑐𝑡𝑖𝑣𝑖𝑠𝑚𝑖𝑡−1, 𝑋𝑖𝑡−1)



 

𝐶𝐸𝑂 𝐴𝑐𝑡𝑖𝑣𝑖𝑠𝑚𝑖𝑡 = 𝛼𝑖 + 𝛿𝑡 + 𝜌𝑃𝑜𝑙𝑎𝑟𝑖𝑧𝑒𝑑 𝐸𝑛𝑣𝑖𝑟𝑜𝑛𝑚𝑒𝑛𝑡𝑖 + 𝜆𝑍𝑖𝑡 + 𝜖𝑖𝑡



 

𝑅𝑂𝐴𝑖𝑡 = 𝛼𝑖 + 𝛿𝑡 + 𝛽 𝐶𝐸𝑂𝐴𝑐𝑡𝑖𝑣𝑖𝑠𝑚𝑖𝑡−1
̂ +𝜅𝑍𝑖𝑡 + 𝜖𝑖𝑡

𝐶𝐸𝑂 𝐴𝑐𝑡𝑖𝑣𝑖𝑠𝑚𝑖𝑡−1 𝐶𝐸𝑂 𝐴𝑐𝑡𝑖𝑣𝑖𝑠𝑚𝑖𝑡−1
̂

𝐶𝐸𝑂 𝐴𝑐𝑡𝑖𝑣𝑖𝑠𝑚𝑖𝑡−1 𝑃𝑜𝑙𝑎𝑟𝑖𝑧𝑒𝑑 𝐸𝑛𝑣𝑖𝑟𝑜𝑛𝑚𝑒𝑛𝑡𝑖

𝑀𝐶

𝑀−𝑀𝐶

𝑍𝑖𝑡



 

 



 



 



 



 



 

 



 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

https://ssrn.com/abstract=3405691
https://ssrn.com/abstract=3154431
https://www.london.edu/think/how-great-companies-deliver-both-purpose-and-profit


 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

https://www.nytimes.com/2018/02/19/business/merck-ceo-ken-fraziertrump.html


 

 

 

 

 

 

 

 

 

 

 

 

https://www.washingtonpost.com/opinions/if-business-roundtable-ceos-are-serious-about-reform-heres-what-they-should-do/2019/09/02/53b05014-cdc0-11e9-8c1c-7c8ee785b855_story.html
https://www.washingtonpost.com/opinions/if-business-roundtable-ceos-are-serious-about-reform-heres-what-they-should-do/2019/09/02/53b05014-cdc0-11e9-8c1c-7c8ee785b855_story.html
https://www.washingtonpost.com/opinions/if-business-roundtable-ceos-are-serious-about-reform-heres-what-they-should-do/2019/09/02/53b05014-cdc0-11e9-8c1c-7c8ee785b855_story.html
https://ssrn.com/abstract=3410382
https://www.washingtonpost.com/opinions/2019/08/20/dont-trust-ceos-who-say-they-dont-care-about-shareholder-value-anymore/
https://www.washingtonpost.com/opinions/2019/08/20/dont-trust-ceos-who-say-they-dont-care-about-shareholder-value-anymore/
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𝑀𝐶

𝑀−𝑀𝐶
<

4

(𝑛+1)2
𝑀𝐶

𝑀
<

4

(𝑛+1)2
4

(𝑛+1)2
>

𝑀𝐶

𝑀

𝛼∗ = 0 𝜎𝑖 = ∅ 𝑖 = 1,2,…𝑛 𝛼∗ = 0 𝑖 𝜋𝑖
∅(𝛼∗ = 0) =

𝑀𝑎2

(𝑛+1)2𝑏
𝑗 𝜎𝑗 = 𝑠 𝜎𝑖 = ∅ 𝑖 ≠ 𝑗 𝜋𝑗

𝑠(𝛼∗ = 1)) =

𝑀𝐶𝑎
2

4𝑏
𝛼∗ = 0 𝜋𝑗

𝑠(𝛼∗ = 1)) <

𝜋𝑗
∅(𝛼∗ = 0)) ⟺

𝑀𝐶𝑎
2

4𝑏
<

𝑀𝑎2

(𝑛+1)2𝑏
⟺

𝑀𝐶

𝑀
<

4

(𝑛+1)2
𝑀𝐶

𝑀−𝑀𝐶
<

4

(𝑛+1)2

𝛼∗ = 0

 𝛼∗ = 𝑛 − 1 ≥ 𝑘 ≥ 1 𝑗 ∈ 𝐴 𝜎𝑗 = 𝑠 𝑗 𝜋𝑗
𝑠(𝑘) =

𝑀𝐶𝑎
2

𝑏(𝑘+1)2
𝑘 − 1 𝐴, 𝑗

𝜋𝑗
∅(𝑘 − 1) =

(𝑀−𝑀𝐶)𝑎
2

𝑏(𝑛−𝑘+2)2
𝑗 𝐴

𝜋𝑗
∅(𝑘 − 1) =

(𝑀 −𝑀𝐶)𝑎
2

𝑏(𝑛 − 𝑘 + 2)2
≤

𝑀𝐶𝑎
2

𝑏(𝑘 + 1)2
= 𝜋𝑗

𝑠(𝑘)

⟺
𝑀𝐶

𝑀 −𝑀𝐶
≥

(𝑘 + 1)2

(𝑛 − 𝑘 + 2)2



 

𝑗 𝐵 𝑘 𝐴 𝑛 − 𝑘 𝐵

𝐵 𝜋𝑗
∅(𝑘) =

(𝑀−𝑀𝐶)𝑎
2

𝑏(𝑛−𝑘+1)2
𝐴 𝜋𝑗

𝑠(𝑘 + 1) =
𝑀𝐶𝑎

2

𝑏(𝑘+2)2

𝐴

𝜋𝑗
∅(𝑘) =

(𝑀 −𝑀𝐶)𝑎
2

𝑏(𝑛 − 𝑘 + 1)2
>

𝑀𝐶𝑎
2

𝑏(𝑘 + 2)2
= 𝜋𝑗

𝑠(𝑘 + 1)

⟺
𝑀𝐶

𝑀 −𝑀𝐶
<

(𝑘 + 2)2

(𝑛 − 𝑘 + 1)2

𝑘 = 𝛼∗

 
(𝑛+1)2

4
>

(𝑘+1)2

(𝑛−𝑘+2)2
𝑘 = 𝑛 − 1 𝑛 − 1

𝑛 𝜋𝑛
∅(𝑛 − 1) =

(𝑀−𝑀𝐶)𝑎
2

𝑏(𝑛−1+1)2
=

(𝑀−𝑀𝐶)𝑎
2

𝑏

𝜋𝑛
𝑠(𝑛) =

𝑀𝑎2

(𝑛+1)2𝑏

𝑛
(𝑀−𝑀𝐶)𝑎

2

4𝑏
≤

𝑀𝑎2

(𝑛+1)2𝑏

𝑀

𝑀−𝑀𝐶
≥

(𝑛+1)2

4

𝑀𝐶

𝑀−𝑀𝐶
≥

(𝑛+1)2

4


